Cumulative Algebra Review- Chapter 07A

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.
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(A) -3     (B) 
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2. If 
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(A) 
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(B) 
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(C) 0

(D) 
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(E) -2
3. If 
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(A) -1.73

(B) -0.55

(C) 1.00

(D) 1.10

(E) 1.73

4. The function 
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 represents the height of a ball, in feet, t seconds after it is thrown. To the nearest foot, what is the maximum height the ball reaches?
(A) 5
(B) 23
(C) 35
(D) 38
(E) 46
5. 
If 
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(B) 
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(C) 
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(D) 
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(E) 
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

A farmer wants to build a row of identical rectangular pens using 800 ft of fencing. He also wants to maximize the area enclosed by each pen.
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a. If he wants to build three pens, like in the picture above, what should the dimensions of each pen be? Explain how you found your answer.

b. If he wants to build four identical pens from 800 ft of fencing, what should the dimensions of each pen be? Explain how you found your answer.

c. If he wants to build five identical pens from 800 ft of fencing, what should the dimensions of each pen be? Explain how you found your answer.

d. Suppose the farmer wants to build a row of m identical rectangular pens from n ft of fencing. To maximize the area, what should the dimensions of each pen be? Explain how you found your answer.
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